[ Efficiency vs vertpos |

= 0.05
9.045
2
2.0.04
(8]
@.035
=]
$0.03
0.025
0.02

0.015
0.01

0.008f - -gereiereeeeees oo

10
1.05

Ratio

=

o 2 E
0.95]
.9

LLLLN LRLN LR LLLLERR RN
+
!

0.
1072 1

10 0?
TP vertr (cn%)

[ fake+duplicates vs vert r

fake+duplicates vs. r

06— _________ *

0.4 RN

ol ]

J—rmemer e [ A -

et

0P - 5

Ratio

1

;++'+'+'+++§ i

5 +
S B 1 )

HES

+4

10?

Efficiend

—=— DQM_original_originalvector_1000evt
—e— DQM_fit_cpeOK_SORTRZ2_TESTOUTLIER5_1000evt
—— DQM_fit_cpeOK_SORTRZ2_TESTOUTLIER6_1000evt

~ 0.1
$0.09
2]
£0.08
>
2
50.07
£0.06
(]
0.05
0.04
0.03
0.02)
0.01
.0

Ratio

1.

s

H
TTTT[TTIT[TTTT [ Tt

:::::::5::::::::§i" HHL ::

=)

[ Efficiency vs. sim PV z |

10
TP vert z (cm)

20 30

N~ 0.
>
8.0.09
£
&0.08
£0.07
3
£0.06
£0.05
(]
0.04
0.03
0.02
0.01

0

.U

Ratio

=

T TT
+

SSoracooooosooo
+

055" 15-10 5 0 5

10 15 20

Sim. PV z (cm)

z
.
[
.
:
.

T T T I T T T I T

I
o}
T

o
o2}
f

fake+duplicates vs.

©
N

S &

éHﬁH{é{ ﬂ#” |

0935 =20 -10 0

10 20 30

track ref. point z (cm)

[ fake+duplicates vs Sim. PV z |

N 0.5
>

8 0.45
£

7] 0.4
£0.35
0.3

o
© N
N O

o

o 9 Pk
= Ol

fake+duplicates rate

=

T T
+
+
=

—_—

095515 -10 5 0 5

10 15 20
Sim. PV z (cm)



	Contents
	Page 1


